I7_comptrig
(TMFSIMTUgwXN4cSQPW1sgmZqVorfYr7Jghh)

October 27, 2020

Let r1_xareal 0 : t=>1=0 be given. Let k7_real_1 : \=1=>¢ be given. Let
k10_real_1 : t=>1=-1 be given. Let k32_sin_cos : ¢ be given. Let np__2 : + be given.
Let k6_numbers : ¢ be given. Let vl_zreal 0 : t=>0 be given. Let k2_xcmplz_ 0 :
t=-1= be given. Let vl_zboole 0 : 1=0 be given. Let v2_xxreal 0 : t=>0 be
given. Let v3_zzreal 0 : t=>0 be given. Let kl_zboole0 : ¢ be given. Let
vl_xemplz 0 : t=-0 be given. Let m2_subset_1 : t=>1=1=0 be given. Let
k1l -numbers : ¢ be given. Let kb_-numbers : ¢ be given. Let ml_subset_1 :
t=t=>0 be given. Let np_0 : ¢ be given. Let vl_zxreal 0 : =0 be given.
Let k31_sin_cos : ¢ be given. Let k7_xcmplz_0 : t=>1=-1 be given. Assume the
following.

VXO0.(vlzreal 0 X0)=(VX1.(vl_zreal 0 X1)=(VX2.
(vlxreal 0 X2)=((rl-zareal.0 X0 X1)(rl_zzreal 0 (k2_xemplz_0 (1)
X0 X2) (k2_xemplz 0 X1 X2)))))

Assume the following.

VXO0.(vlzreal 0 X0)=(VX1.(vlzreal 0 X1)=((rl_xzreal -0 @)
X0 X1)=((vl_xboole 0 X0)V((v2_xareal 0 X1)V(v3_xareal 0 X0)))))

Assume the following.
VX0.(vl_xboole 0 X0)=(X0 = kl_zboole0) (3)

Assume the following.
VXO0.(vl_zemplz 0 X0)=(k2_xzemplz0 X0 k6_numbers = X0) (4)

Assume the following.

VX0.VX1.VX2.((vl_zemplz 0 X0)A((v1-zempla_0
XA (vl zemple 0 X2)))=(k2_zcmplz 0 (k2_zemplz_0 X0 X1) X2 = k2_zemplz_0
X0 (k2_xemplz 0 X1 X2))

(5)



Assume the following.

((v2_zzreal 0 np__2)A(m2_subset_1 np__2 k1_numbers kb_numbers))A
((ml_subset_1 np_2 k5_numbers)\(ml_subset_1 np_2 k1_numbers))

Assume the following.
—wl_zboole_0 np__2 (7)

Assume the following.

(m2_subset_1 np__0 k1 numbers k5_numbers)A((ml_subset_1 np_0
k5_numbers)A(ml_subset_1 np__0 kl_numbers))

Assume the following.
vl_zboole_0 np_0 (9)

Assume the following.
k2_xemplz_ 0 np_0 np_0 = np__0 (10)
Assume the following.

VX0VX1.((vl-zzreal 0 X0)A(vl_zzreal 0 X1))=(

rl_zxreal 0 X0 XO0) (11)
Assume the following.
VX0.VX1.((ml_subset_1 X0 kl_numbers)A(vl_zreal-0 (12)
X1))=(k7real-l1 X0 X1 = k2_xemplz_0 X0 X1)
Assume the following.
k6_numbers = k1_zboole_0 (13)
Assume the following.
k32_sin_cos = k31_sin_cos (14)
Assume the following.
VX0.VX1.((ml-subset-1 X0 kl_numbers)A(vl_zreal-0
X1))=(k10-real-1 X0 X1 = k7_xemplz 0 X0 X1) (15)
Assume the following.
—rl_zzreal 0 k32_sin_cos k6_numbers (16)

Assume the following.

VX0.VX1.(((—vlxboole-0 X0)A(vl_zemplz 0 X0))A
((—vl_xboole 0 X1)A(vl_xemplez 0 X1)))=(—vl_zboole 0 (k7_xemplz_ 0
X0 X1))
(17)



Assume the following.

VX0VX1.(((mv3_zzreal 0 X0)A(vl_zreal 0 X0))A
((—v3_zzreal 0 X1)A(vl_zreal 0 X1)))=(-w3_zzreal 0 (k7_xcmplx_0

X0 X1))
(18)
Assume the following.
(vl_xreal 0 k31_sin_cos)\(—w3_zzreal 0 k31_sin_cos) (19)
Assume the following.
VX0.VX1.((ml_subset.1 X0 kl-numbers)A(vl_zreal-0
X1))=(ml_subset_ 1 (k7_real.1 X0 X1) k1 numbers) (20)
Assume the following.
ml_subset_1 k32_sin_cos k1_numbers (21)
Assume the following.
vl_zreal 0 k31_sin_cos (22)
Assume the following.
VX0.VX1.((ml_subset.1 X0 kl-numbers)A(vl_zreal 0
X1))=(ml_subset_1 (k10_real-1 X0 X1) kl_numbers) (23)
Assume the following.
VX0.VX1.((vlzemplz 0 X0)A(vl_xzemplz 0 X1))=(
k2_xemplz 0 X0 X1 = k2_zempla 0 X1 X0) (24)
Assume the following.
VX0.(vl_zreal 0 X0)=(vl_zxreal 0 X0) (25)
Assume the following.
vX0.((vl_zareal 0 X0)A(v2_xxreal 0 X0))=((—vl_xboole_0
X0)A((vlzareal 0 X0)A(—v3_zxxreal 0 X0))) (26)
Assume the following.
VX0.(vlxreal-0 X0)=(vl_xemplz-0 X0) (27)
Assume the following.
VX0.(ml_subset_1 X0 k5_numbers)=(—w3_zxreal 0 X0) (28)
Assume the following.
VX0.(m1_subset-1 X0 k1l numbers)=-(vl_zreal-0 X0) (29)
Assume the following.
VX0.(ml_subset_ 1 X0 k1_numbers)=(vl_rcmplz 0 XO0) (30)



Theorem 1

—rl_zxreal 0 (k7_real_1 (k10_real_1 k32_sin_cos np_2) (k10_real_1
k32_sin_cos np_2)) (k7_real_1 k6_numbers (k10_real_1 k32_sin_cos

np--2))



